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Fluctuations: Diffusion

= Definition of main parameters

In[1]:=

In[6]:=

out[11]=

out[12]=

ti mesteps = 300;

nparticl es = 300;

x = Tabl e[0, {nparticles}];

junp: =Tabl e[l f [Random[] <0.5, 1, -1], {nparticles}]
Xi=#+jum &

traj = NestList[X x, tinmesteps];

time=Table[i , {i, O, tinmesteps}];

xaverage = N[Map[Tr, traj ] /nparticles];
x2average = N[Map[Tr, traj traj ] /nparticles];
x2list =Partition[R ffle[time, x2average], 2];
Li st Pl ot [x2aver age]

Fit[x2list, {1, vy, y*"2}, vy]
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Mani pul at e [Show[Hi st ogram[traj [[t]],

RandomWalkDiffusion.nb

Aut omatic, "ProbabilityDensity", Pl ot Range » Al | ],
Plot [Exp[-y?/ (2t)] /(Sart [2Pi t1), {y, -100, 100},
Pl ot Range » Al |, PlotStyle - Orange]], {t, 1, tinesteps, 1}]
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Nest Li st [f, y, 2]

{y, fiyl, fifiyln

rr =Tabl e[l f [Random[] <0.5, 1, -1], {10}]

{1, -1, 1,1, -1, 1, -1, -1, -1, -1}

xx = Tabl e[0, {10}]

{0, 0, 0, 0, 0, 0, 0, 0, 0, 0}

XX =Yy

{1, -1, 1,1, 1, -3, 1, -1, -1, -3}

YY = XX + 1T

{0, -2, 2, 2, 0, -2, 0, -2, -2, -4}

Il =({{a, b, c}, {d, e, T}, {g, h, |}}

{{aY b’ C}Y {d’ eY f}’ {gY h’ I }}
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